Adding and Subtracting Polynomials

@ Simplify each expression.

1) (—2z + 6) + (4z — 4) =

3) (—2z% + Tz) — (22% + 5z) =
5 bz +9) — 4z + 7) =

7) (—3z* + 9z) — (T2 + Tz) =
9 9z + 4) + (Tz — 2) =

11) (22% + Tz) — (22® + 3z) =
13) (—4z + 6) + (2z — 4) =

15) (102® + 5z) — (52° + 4x) =
17) 8z + 9) — (6 + 7) =

19) (=7z +9) — (6z + 7) =

21) 3z + 4) + (Tz — 3) =

23) 3z + 5) — (5 + 4) =

25) (=5 + 6) — (2 + 5) =

27) (—92% + 9z) + (322 — Tz) =

29) (4z* + 9z) — (2% + Tz) =
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2) (—42? + 7z) — (42® + 5z) =

4) (—42® + 3z) + (22 — 2z) =

6) (10z + 6) — (bz + 2) =

8) (—102? + 8z) + (3z® — 6z) =

10) (5z + 8) + (4= — 6) =

12) (—-10z + 4) + (Tz — 3) =

14) (8= + 8) + (3z — 6) =

16) (—9z + 5) — (2z + 3) =

18) (—8x% + 4z) — (622 + 2z) =

20) (—4z + 9) — bz + 7) =

22) (lz +9) + 3z — 7) =

24) (6z + 3) + (2z — 2) =

26) (—2z + 6) — (4= + 5) =

28) (—10z + 7) — (Tz + 5) =

30) (6z + 6) — (52 + 3) =



Answers of Adding and Subtracting Polynomials

@ Simplify each expression.

1) (-2 + 6) + (4z — 4) =2z + 2

3) (—2z% + Tz) — (22% + 5z) = —42? + 2z

5 be +9) — 4z + 7)) =1z + 2

7) (—3z% + 9z) — (T2 + Tz) =

— 1022 + 2z

9) 9z + 4) + (Tz — 2) =16z + 2

11) (222 + Tz) — (222 + 3z) = 02% + 4=z

13) (—4z + 6) + 2z — 4)= — 2z + 2

15) (10z% + 5z) — (522 + 4z) =522 + 1z

17) 8z + 9) — (6z + 7) =2z + 2

19) (—7z +9) — (6z + 7)= — 13z + 2

21) 3z + 4) + (Tz — 3)=10z + 1

23) 3z + 5) — (bx + 4)= —2z + 1

25) (—5z + 6) — (2z + 5)= — 7z + 1

27) (—92* + 9z) + (3z? — Tz) = —62° + 2z

29) (42* + 9z) — (72® + Tz) = —32® + 2z

2) (—42? + Tz) — (42% + 5z) = —8z? + 2z
4) (—42? + 3z) + (22 — 2z)= —22% + 1z
6) (10z + 6) — (b + 2) =5z + 4
8) (—10z? + 8z) + (322 — 6z) =
— 7z + 2z
10) (5 + 8) + (4z — 6) =9z + 2
12) (-10z + 4) + (7Tz — 3)= — 3z + 1
14) (8z + 8) + (3z — 6) =11z + 2
16) (92 + 5) — 2z + 3) = —1lz + 2
18) (—8z% + 4z) — (622 + 2z) =
— 1422 + 2z
200 (—4z +9) — bz +7)= —92 + 2
22) (1z +9) + 3z — 7) =4z + 2
24) 6z + 3) + 2z — 2) =8z + 1
26) (—2¢ + 6) — (4o + 5)= —6z + 1

28) (-10z + 7) — (Tz + 5) = — 17z + 2

30) (6z + 6) — (b + 3) =1z + 3



